FREQUENCY RESPONSE OF RC COUPLED AMPLIFIERS
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LF RESPONSE
Q. Why gain of RC coupled amplifier falls in LF
- range AN
Ans | d ) XCCJ?— 3-'“¢'CC|
i) In MF Range X, is very small (fis high) — y -
£ T T !

~. Ccy is short. Drop across C; =0, ¥V, =V, Vi éVs 1; <y vy ::g,' e
is max, V, is maximum:. L + —

- A is maximum. As we enter in LF Range and Ac egnt- Ac egntckt
start decreasing frequency, Xcci increases,  <kb of °of ot
drop across Xccl increases, Vi decreases, Vo Soures R Sl fpsids)
decreases, .. A decreases. Xeca = '—‘“—21-, FCeat

ii) At MF, Xccz is very small drop across it is - —.c,c ¥ 1
very small =0, .. Vp is maximum & gain is Vo 2 vi| Zr.
maximum. As we enter in LF Range Xcc - ¥+ —
increases, drop across it increases, VL Ac eqnF ekt AcC egqnt ckt

" decreases.". gain decreases. of omp. of load

iii) j . Colp srae) ‘
AT MFE_(mid-|requnis) ATLF [Jow hrequndy)
Zg=° RE :-ft'-—:l['.cE =

Freq. is high, Xcg = : is very Freq. is low, ch, is lngh, Cg _cannot be

) assumed as short, Zg# 0. An 1mpeda.nce Zg

iow = C(i‘: 1S Sh?irt' h;ﬁ i o | is present and there exist ac drop across it.

between E and ground 1S " |This AC drop provides ac negative
Zg=0. .

Scanned by CamScanner




